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B 1%l ¢y 3
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dimEEE

(\5 >x-3f;»/f7\ 9>-%3) @ (x >4 of x <=~4)
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@ 1y-3] +6 <3x
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5_5(37&_6 @ﬂ}o\ 3-$ > -3x+b
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Algebra SKills Review
ADDITIONAL PRACTICE PROBLEMS Il & IV - ANSWER KEY

@ 25,33 ¢ 53
\ 642,00 00
Li.

REIPYTY

225

508 1700

| 509

Sofatﬂl 191 00

4z (VG -afi5) —afs

H2 -8 (s -2(5
(T —245 -2E = [aE 265

@ L*@ 2023 (L4 12 ot

-

232 23 -3 | S

Tarzan contemplates another entry.

@ "H:\(ZTO‘%
2264 (95

Llf:‘i 2304

55 7 Phs
H7 Wiq

@ Ve +3 24
Nohe13 =

Hxtiy = |

i

@ a*ybr=c*
R0t = ™
Ja 100 = ¢*
HE=e>

C‘-:‘lﬁ?l M |

@ 4,5) +o (s,-1)
A= (@) -@)*+ (5) )
4= {rpra(o- = {52
a = |2{a

@ y=x2-6x -6
axis x ==5ha jx:%’

Yya2@)*>6@B)-le = -25 |(3,~25)
203
2|2y @ -60)-1e = 24

O~ @ -6C0)-l6 = -16
200 E*-62)-16= 0
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Algebra SKills Review
ADDITIONAL PRACTICE PROBLEMS IIl & IV - ANSWER KEY
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(B Hx2+15x-14=0
Yx* +Jox =% =4 =0

N “Hey, hey, hey! Are you folks nuis? I'm felling you, this is
e (k) -1 G ) =© the car for you."

Cx4+9) (4xe=1D=0

s @ n*-6n+ =0
a=l ¢ E= 4000
b=-b 20)
c=} L 32 _ 6EwZ
© 30> +12 =80 SRR
3n> —-1&n == E;EJ;L—
n>-6bn = -4

nl—en +q -'-'-""++C, ?—Kl +-"-‘-)(,+3=O

(h-3)> =5 Aiscrmmnant  b*-Yac = (= 4R)ER)
n-3 = =I5 k=24 =-8

!n: B:bis'l \no real ool
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Algebra Skills Review
ADDITIONAL PRACTICE PROBLEMS il & IV - ANSWER KEY

@ -3 s =it

-

S-a  a@s (5a) @s)(at5) 3

@ 2n =13p 418 n+)
i i W ———

2n-3 n2-uyn-5S
(01‘5;)(1@) GFY 3 raxsy _ 5 _
(2p€2) x(,yéj(m%) = [ a-5 (m—s) @-5Xat5)
‘ 3 (at5)-5 3a+SS | 3aH0
2 = . =
@ :‘-—i o :i (a-5) (ats> CQ-QCMS) @-SDCM'S)
(+AMA G4 T |
/6 3 ():4) A ng' @ ny 2+—é—- Or2)(MS) + 2.
(el = 3 @5
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Ax = 2(x=)=+ 3=

ix 2 5x=14
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~ suddenly, his worst fears realized, the old fellow's

fusks jammed.
“a2% = =i




Algebra Problem Solving Review
ANSWER KEY V

O n | @ W TS ThY4
n+2 m > Rg)am 5n 5Snts
n +4 2 < oA S En+y

3ntH) = (2n+5) =6
An4+ix—2n -5 =(L
n==l

4 (5n+5) = 3 (&N +4)
20n+20 =24n -+l
~H4n = -3
@ n= 2

-6 4 in -4 < |7

Ruan vow Sh =10
—10¢3n-4 and 39 <17 9
bk Ruan last year = "Tat:s.old&

—b<3n aﬂ_f Bn<2) it

P I dj}} n< 7

) @ n Bl =6
—-2<n<] prr'h:Ie}eVGn Nn+| | |-5
IEEIRN nt 4 OrR): 26l

nZ+ (n242q H) =6l
202 +2n ~b0=0
n3n -3c =0

n -5(n+6) =0
n=5 or -6

B tu

tru=7 —» wu=7-¢C
owrt = 2(lotFun) 25
jbut+t = 206 oy 25

gu ~lat =25

s(7-t) -19e =25

5b —gk& -9 =25

e "k Vi —a7t = -8l
The 100-meter mosey £ = @




Algebra Problem Solving Review
ANSWER KEY V

© .085n + 3(2i0) = |o0Y
L0651 + (30 =100Y
055N = 374
n= 4400

$4H400

@ mekels 1% - 3n
d;mes N
quarters  2h
B (28-3n) + 10N + 25 (2n) =365
140 =151 + 10N +%50n =265
Hsn =225
ne 5
mckels 2&-3n
13 viickels

aft tox 1537 _ ot

bray. pr n loo

Jobwn = 1537
n= 4.5 $14.50

@ ,obn = ,0x(Ixowo-n) +240
L0bn = )94o ~-.08Nn+ 240

190 |6 50
n= 13060 [$!2,00 aﬁ-eoco)

425 n + |.715(50-n) = 120
425N + §7.5 - 1,75n =120

2,5n = 32,5 .
n= 13 1% aduM Hekets
B0-n =37 37 child ekeds

Z have Téya,C/)ar/es...

Frank is geffing more and
more Suspiciods.




Algebra Problem Solving Review
ANSWER KEY V

) .40 (30) = 0(M) = .60 (30-n)
2. = ¥~ on _
bn = 6 iLIC_).Q O'P wa‘*ﬁﬂ
@ 1E s A eeatE Bl
QMj 6 + = 6t
\ 2 —3‘ = “"'-
Rick g (+ q) gt -6
bt =50 /}mi,j avrives
-2,b'=-év lt20+ 3 = |'-!'!50 PM‘
=3 Diustance fo beach
bt = (I8 miles
®) T
downshream (r4c) + 3 - 4o
vpsheam (r<) . 7 = H2
Cvrse 2l = et St
Gr~Te=4)+7 = r-=c=6
2r 20
=10
fuwmﬂ%%mph! c=*
5n 4|
s 2n+2(BEnH)38
hq 2nlon+2 =3&
- 12n =36
area A=
3xlo= (4R cm> P+l = 16

n+5

®
N+

31N TRT

h+5)nts) - N )= 319
(n*+&n+5) ~ (h>+2n) =39

bn -4 =0

3

“You know, Bjorg, there's something about holding a
good, solid mace in your hand—you just look for an
excuse to smash something.”
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Algebra Problem Solving ’J{emew
ANSWER KEY V

2Nn+6

Gnh12) (2n+6) - EX12) =63
(2 3o +72) = 72 =63
W2 4+3bn =63 = O

a=t =36 & agyro 4(4)Ce3)
b=3b 2 (4)
¢ =-bd
—%t 45 L g o 12
Nn= |’9L_ Ffeet

@ (n-5) (2n+2) =54

2n% -gn —10 =54 (h ~&)(n+4) =0

n*-—-4n -32 =o
x =
Rgs Ve o e e
(§+_ :|) mulk by 6
2k +t =6
e =6, —2otl= ]7- hous

@

@)

£ ' _t_ = ﬂ
Susav 5 Zﬁs = 2/3
Miw a Y o s = 2,

(2 xc —|> ok by 15

o =2 =S

Zy= 5
v=5/h rec;procazf'-'l/S
% x &0 312'4- v‘ﬁmﬂ&f}
i s S0
Fill Pige | Yoo + € = S
Fill Pige 2 Vs t = Y=
YA V4 LB R G
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(—i‘+ = -——l) wo It 193 20
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Jc=2‘°/q = 271 X.Z\\Y‘S.Bm.m.

Eventually, Slevie looked up:
sight, and this was certainly no longer the
foy department.




